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Section — A (Reading )
Read the passage carefully and answer the following questions:
Trees are of importance not only to man but also to birds and animals. The branches of the trees give
shelter to millions of birds and forests give shelter to numerous wild animals. We value trees not only
for their usefulness but also for their beauty. They have a way to refresh the eye and also refresh the
mind. Perhaps that is why the ‘rishis’ of olden days were drawn to the forests, and they and their people
chose to make forests as their homes in the company of nature. In modern times when Rabindranath
Tagore started a school he too chose a place full of trees and called it Shanti Niketan or the home of
peace. A new festival ‘Van Mahotsava’ has been started to grow trees and save them. We should plant
new trees wherever we can and look after them.
Answer the following questions:
1) How are trees important for birds and animals?
i1) Why did the rishis in olden days make forests their homes?
i) Why is Van Mahotsava organised?
v) Who started Shanti Niketan?

V) Write the synonym of : a) beauty - b) company-
Read the poem carefully and answer the following:
Sympathy
I lay in sorrow, in deep distress; I lay in want, and grief and pain;
My grief a proud man heard A poor man passed my way,
His looks were cold, he gave me gold, He bound my head, he gave me bread,
But not a kindly word. He watched me night and day.
My sorrow passed — I paid him back How shall I pay him back again.
The gold he gave to me; For all he did to me?
Then stood erect and spoke my thanks Oh, gold is great, but greater far
And blessed his charity. Is heavenly sympathy!

1) How did the proud man help the poet when he was ‘in deep distress’?
11) What was it he did not give the poet?
111) How did the poor man take care of the poet?
1V) Which of the following statement is not true?
a) The poet repaid his debt to the proud man by thanking him.
b) The poor man blessed the charity of the poet.
¢) When the poet was in sorrow he was given money.
d) The poet says he cannot repay the poor man for his sympathy.
V) Which word in the poem means ‘giving money to a person who is in need’?
Section — B (Writing)

Write a paragraph on any one:
i) Books are our good friends 11) The season I like the most

You are Sonia/ Siddharth from Doranda, Ranchi, Jharkhand. Write a letter to your
friend asking him/ her to spend a day at your home to do combined study for the
upcoming exams.

Section — C ( Grammar)

Do as directed:

i) A of rooms [ fill in with a collective noun |
11) A of cars [ fill in with a collective noun |
iii) deer - , sheep - [ state the plural form]
iv) gentleman - , bull - [ state the opposite gender |
V) Sahil is (good) than Aarush in studies. [ change the word in the bracket
into comparative degree of adjective]
Vi) Anvi is the (tall) girl in the class. [ change the word in the bracket
into superlative degree of adjective]
vil))  milk- , leaf - [ state countable or uncountable noun |

P.T.O.
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Fill in the blanks with the most suitable articles. Put a (¥ ) in case no article is needed:

1) His father is accountant.

i1) Kfritika is learning guitar.

i) child is making castles in the sand.

1v) She is woman of eighty.

V) honesty is the best policy.

Rewrite the following sentences using pronouns in place of the underlined nouns:
1) Suhani is a great singer. Suhani won the first prize in the singing competition.
ii) The cat is a pet animal. The cat likes to drink milk.

i) Mr. Sharma is the head master of this school. Mr. Sharma is a gentleman.
iv) Jacob is my classmate. Jacob is a great actor too.
V) Dr. Sangeeta is a heart surgeon. Dr. Sangeeta takes care of the patients gently.

Pick out the verb in these sentences:
1) The boys swims.

11) She danced well.

1i1) We grow plants in the garden.
iv) The Principal praised Neha.

V) Welcome the guests with a smile.

Fill in the blanks by forming adverbs from the words in the brackets:
1) It is raining . (heavy)

1i) The dog barked . (loud)

111)  He completed his home work . (neat)

1v)  The soldiers fought . (brave)

V) The old man crossed the road . (safe)

Section — D ( Literature)
Answer the following questions:

1) Why did the narrator drag Moyna back by her pig tails? Was Moyna a lazy girl? Explain.

ii) What is being described in lines 5 — 8 in the poem the ‘Paint Box’?
i) What does the Prince from Tibet does not want the Emperor to do?
iv) What was special about Aman’s kite?

V) Why could Moyna not attend the Samiti school?

vi) How many forms of transport are mentioned in the poem ‘Sing a Song of People’? What are

they?
vil)  Why was Sadiq so worried about the Nawab arriving late for his lunch?

Answer the following with reference to the context:
1) “Ask me questions”?
a) Who says this to whom?
b) Why do you think the speaker says this?
ii) “But that’s impossible!”
a) Who says this to whom?
b) Why does the speaker say this?
1ii) “You deserve a reward.”
a) Who says this to whom?
b) What is the reward?

Give the meanings:
a) gain b) pales ¢) swarm d) blooms e) nestling
Make sentences with the following words:

a) delicious  b) blooms c) delight d) pavement e) attractive
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Section — A

Fill in the blanks:

1) The predecessor of the smallest 8 digit number is

2) Two consecutive prime number whose difference is 2 are called

3) Reciprocal of 2% =

3

4) — g( insert >, <, or =)

5
1 1

5) —+—==

2 3

6) Prime factorisation of 12 =
7) The successor of 1 million is
8) 7x3x3x10=

9) LCM of 5 and 8 is

1)
2)
3)
4)
5)
6)
7

8)
9)

3
1H2-==
’s

10) 172 x 2 x 10000 =

2
7

12)5 tens + 2.5 =

Write True or False:

The equivalent decimal of 2.3 is 2300.

Sum of two even numbers is always odd.

A number divided by itself is equal to number itself.

A number has only one multiple.

A number that is divisible both by 2 and 3 is divisible by 6.
The smallest multiple of a number is the number itself.

A number which has only 2 factors. 1 and number itself is called a composite number.

7000 + 6000 + 500 + 40 + 8 = 7648
0+ 325 + 325 equal to 650

10) 79246590 = 7924659 = 10

AN

Match the following:

Smallest composite number > 61 a) 3
HCEF of 12 and 28 b) 33.33
2,72 0 4
3 33

3.03 +30.3 d) 2.33
7x3+3-4 e) 62

P.T.O.
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Section — B

Do as directed:
1) Reduce each of the following fraction to its lowest term
a) 0 b) il
189 144
2) Add:
7 2
a) —+— b) 9.006 + 1.2 +2.73
10 5
3) Multiply:
a) g><§><E b)2.75x5
395
4) Divide:
a) 1 +200 b)71+35%
5) Arrange in descending order:
1.101, 1.01, 1.11, 1.112
6) Convert:
a) 2.6 cm into mm. b) 3.648kg into grams.
7) Simplify:
[1+2j+2§x17 _3
2 3 6 6
8) What will be the sum of 3™ power of 4 and 6™ power of 3.
9) What should be added to 3.546 to make it equal to 7.
10) Which is greater, the sum of 198579 and 78532 or the sum of 125896 and 98456.
11) Find the value of
a) 3of 66 b) 105 + 33
11 9

12) Find the difference of 2" multiple of 16 and 4™ multiple of 6.

1)
2)
3)
4)
5)

6)

1)

2)
3)

4)

Solve:
Product of two number is 320, HCF is 8. find the LCM.
Potatoes are priced at I450 per quintal. Find the cost of 30 kg of potatoes.
An aeroplane covers 600 km in 5 hours. How far will it go in 15 minutes?
1 kg of a metal costs X 540. Find the cost of 150 grams of the metal.
In a class, Y4 of period was spent on mental test and the rest was spent on written work. If the period
lasts for 40 minutes, find the time spent on written work.
Capacity of a container is 24 litres. It has 16254 ml of water. How many litres of water must be poured
into it to make it full?
Section — C
Solve:
Find the total cost of the following after preparing the bill:
a) 5 pens at X 7.50 per pen
b) 4 pencils at 80 paise per pencil.
Fuel tank of a generator had 100L of diesel in it. on the first day 28.523L of diesel was consumed. On
the second day 28.306L of diesel was consumed. What quantity of diesel is left in the fuel tank now?
Find the greatest number formed by the digits 2, 3, 4, 5, 8, 9 and subtract from it the smallest number
formed by the above digits.

Check divisibility of each of the following number by 2, 3, 5, 11. Put (v') for divisible and (%) for not
divisible:
S1.No. Number 2 3 5 11
a) | 99880

b) | 726354
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Define these terms:
a) Vaccination b) Splint ¢) Neurons d) Backbone

Short answer questions:

a) Write any two properties of air.

b) How is our brain protected?

¢) What is the role of weedicides and pesticides?

d) How does hair on the bodies of mammals help them?

Long answer questions:
a) How does regular exercise help us in maintaining good health?
b) What should you do in case of a cooking gas leakage in the kitchen?
¢) Write about the different types of nerves found in our body.
d) List three ways in which germs enter in our body?

. Give reasons for the following:
a) Why does an astronaut carry oxygen cylinder, when he goes into the space.
b) A person immediately removes his hand on touching hot object.

. Differentiate between:
a) Communicable and non-communicable diseases.
b) Sedimentation and Decantation.

What first aid can you give in the following cases (any two points)
a) snake bite b) Sprain ¢) Insect bite

Name them:
a) The disease caused by rusty metallic object.
b) A seed dispersed by wind.
¢) The joint present in your elbow.
d) An animal having spines on their body for protection.
e) The part of the brain which controls heart beat.
f) A procedure which helps doctor to identify the nature of sickness.
g) The deficiency of iron in your diet causes this disease.
h) The process in which sufficient water is supplied to the crop plants.

Fill in the blanks:
a) Eyes are connected to the brain by the nerves.
b) The tight bandage tied above the wound to stop heavy bleeding is called
¢) The study of bones is known as .
d A is used to put off small fire.
e) is the process which involves boiling followed by condensation.
f) Ferns reproduces through .
g) Butterfly sucks its food through a tube like mouth part called
h) is the ability of our body to fight off diseases.

P.T.O.
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a)
b)
c)
d)
€)

Write True or False:
Humerus is longest bone in our body.
AIDS is a disease caused by bacteria.

Salivation is controlled by spinal cord.

Coconut seed is dispersed by animal.

Muddy water can be easily cleaned by boiling.

Do should not puncture blisters.
Hydrogen gas supports burning.
Worms and bugs crawl.

Match the column:

(Copy down column A and choose the correct answer from Column B and write in front of it)

Column — A

Column - B

compressible * explosion
snakes * vibration
cartilage * a twist in a joint
mouth ulcer * slither
pea seed * Beri-Beri
sneezing * space between particles can be reduced
sprain * reflex action
ear drum * ear lobe
Complete the series:
:deficiency of vitamin C - rickets : deficiency of vitamin D
Carrot :reproduce through root : reproduce through leaf
:shells fish : scales
Hip bone ankle : gliding joint
Oxygen :breathing : photosynthesis
: dog bite malaria : mosquito bite

Draw and label the given diagrams:

a) Parts of an eye.

b) Sedimentation



a)
b)
c)
d)
€)

2)
h)
i)
j)
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Define:
a) spheroid b) globe ¢) latitudes d) humidity
e) atmosphere f) ranch g) territories h) human rights

Answer in detail:

a) Give the importance of signs, symbols and colours on a map.
b) How is the government formed at the centre?

¢) What are the differences between weather and climate?

d) How is India involved in the activities of the U.N.?

e) What types of climate does the grassland have?

f) Bring out the difference between Lok Sabha and Rajya Sabha.
g) Describe the heat zones of the Earth.

Give short answers:

What is a Thematic map?

Why are imaginary lines drawn on the globe?

What are the factors that determine the climate of a place?

Why should we know both the latitude and longitude of a place to locate the place?
What does the word ‘Prairie’ means?

Give the composition and function of the International Court of Justice.

Answer in one sentence:

When is Human right day celebrated?

Which Ocean is known as the southern ocean?

What is cartography?

Through which cities does the prime meridian go through?
How many heat zones is earth divided into?

When was the League of Nations formed?

What is a Coalition Government?

What is the full form of MLA?

Which house is known as upper house?

In which city the U.N. headquarter is located?

Where is the headquarter of International Court of Justice?
When did India become a Republic?

Name them:
Light blue is used in the map to show. -
Maps that show a particular them or special topic are called -
The equator divides the earth into two. -
The shortest latitude line is at the -

The earth is tilted at an angle of -
The season in which the Prairie gets rain-
The place where the harvested grains are stored. -
The first citizen of the country. -
The highest court of appeal in India. -

The climate in this zone is very hot and humid throughout the year. -

SUBJECT:- Social Science

P.T.O.
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a)
b)
c)
d)
€)

2)
h)
i)
j)

a)
b)
c)
d)
€)

2)
h)
i)
j)

a)
b)
c)
d)
€)

2)
h)
i)
j)

Fill in the blanks:

The land masses are called
travelled around the Earth and proved that the Earth is round.
The interval between two latitudes is
The world can he divided into climatic regions.
The temperature decreases by 1°C for every metres above the sea level.
The major crop of the Prairie is
The members to the Rajya Sabha are elected by the .
The age limit to become a member of the Lok Sabha is year.
The administrative organ of the U.N. is the
The world organization was named United Nations by

True and False:

The Earth is the 5 largest planet in size in our Solar system.

The Prime Meridian divides the Earth into the Eastern Hemisphere and the Western Hemisphere.
The axis is an actual line on which the Earth rotates.

The polar regions receive the slanting rays of the Sun.

Places near the Coast have moderate climate.

The life of the farmers in the Prairies is very modern.

The governor of a state is elected by the people.

Rajya Sabha can have a maximum of 238 members.

India is a permanent member of the Security Council.

Arabic is one of the official languages of the U.N.

Match the following:

Column - A Column - B

First globe 1) 23V2°N — 231%°S
Torrid zone ii) 1946

Grassland of Australia 1ii) Rome

Head of the state 1v) Velds

Grassland of South Africa V) Geneva, Switzerland
Lok Sabha vi) Crates Mallus
UNESCO war established in vii)  23V2°N - 662°N
Headquarter of FAO viii)  Lower house
Headquarter of WHO 1X) Downs
Temperate zone X) President of India

Give the expanded form of the following:
a) UNESCO -
b) UNICEF -
¢) ILO -

Draw the diagram of the heat zones and label it.



